STRONGLY ADEQUATE SETS AND ADDING A CLUB WITH
FINITE CONDITIONS

JOHN KRUEGER

ABSTRACT. We continue the study of adequate sets which we began in [2]
by introducing the idea of a strongly adequate set, which has an additional
requirement on the overlap of two models past their comparison point. We
present a forcing poset for adding a club to a fat stationary subset of wa
with finite conditions, thereby showing that a version of the forcing posets of
Friedman [1] and Mitchell [3] for adding a club on wy can be developed in the
context of adequate sets.

The idea of an adequate set of models was introduced by the author in [2].
Roughly speaking, an adequate set is a set consisting of countable models which are
pairwise membership comparable below a particular ordinal called their comparison
point. The relevance of the comparison point is that the two models have only a
finite overlap past this ordinal. We presented a general framework in [2] for using
adequate sets of models as side conditions in forcing on wsy with finite conditions.
Examples of forcings which fit into this framework include adding a generic function
on ws, forcing a nonreflecting stationary subset of we N cof(w), and adding an w-
Kurepa tree.

In earlier work Friedman [1] and Mitchell [3] separately introduced forcing posets
which add a club to a fat stationary subset of ws with finite conditions, using
countable models as side conditions. In this paper we develop an analogue of these
forcings in the context of adequate sets. To achieve this, we introduce the idea of
a strongly adequate set of models, which differs from an adequate set by obeying
an additional requirement on the overlap of models past their comparison point.

This paper is a sequel to [2]. We assume that the reader is familiar with the
material in Sections 1-3 of that paper. Our forcing poset is similar to the Friedman-
Mitchell posets in the sense that we approximate a generic club using intervals.
Neeman’s method [4] for adding a club is somewhat different; he adds a generic
sequence of models with finite conditions for which the suprema of models appearing
on the sequence form a club.

1. BACKGROUND ASSUMPTIONS AND NOTATION
For easy reference, we review here the notation, concepts, and results of Sections
1-3 of [2].

Assumption 1: Assume 24! = w,.
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The reason we make this assumption is because it implies that the elementary
substructures of H(wy) which we will use are determined by their set of ordinals.
This way we can use sets of ordinals as side conditions instead of models.

Using Assumption 1, fix a bijection 7 : wy — H(ws). Let A denote the structure
(H(w2), €, ). The bijection 7 induces a set of definable Skolem functions for .A. For
any set a C H(ws), let Sk(a) denote the closure of a under some (equivalently any)
such set of definable Skolem functions. If N < A, then N = 7[NNws] = Sk(NNwsz).
By Lemma 1.4 of [2], if @ and b are subsets of wy satisfying that Sk(a) Nws = a
and Sk(b) Nwe = b, then Sk(a) N Sk(b) = Sk(anb).

Assumption 2: There exists a thin stationary subset of P, (w2).

Fix a stationary set ) C P, (w2) which is thin. This means that for all 8 < wa,
H{angB:a e YV} <w;. Without loss of generality we assume that ) is closed under
initial segments, that is, whenever a € ) and § < ws, then anN g € Y.

Notation: Let C be the club set of 8 < wy such that Sk(f) Nwe = 5. Let A =
C'Ncof(w). Let X denote the stationary set of M in ) such that Sk(M)Nwy = M
and for all v € M, sup(CNvy) € M.

Note that every member of A is a limit point of C.

Suppose that M and N are in X. If M € Sk(N), then Sk(M) € Sk(N),
sup(M) € N, and every initial segment of M is in Sk(N). Note that if M € X and
B € A, then SE(M N B) = SkE(M) N Sk(B). It easily follows that if M € X and
BeA then MNBeX.

The fact that ) is thin provides the following important consequence: if M is
a subset of § in X, where § € A, then M € SEk(B) (Proposition 1.11 [2]). In
particular, if M € X and 8 € A, then M N S € Sk(pB).

We now discuss the comparison point S, n of sets M and IV in X'. The definition
of By, n is made relative to a stationary subset of A.

Notation: Fix a stationary set I' C A.

For a set M € X, let I'j; denote the set of 5 € I such that

B =min(I"\ (sup(M N j))).

In other words, 8 € Ty iff 3 € T and T' N [sup(M N B),58) = 0. If 8 € Ty, then
B is the least element of I' which is strictly larger than sup(M N B). Note that if
M g ]\[7 then FM g FN

If M and N are in X, then I'j; NI'y has a largest element. We sketch a proof
of this fact as follows. Note that the first element of I' is in both I'j; and I'y.
If T'yy NT'y does not have a maximum element, then let v be the supremum of
I'py Ny, One can then show that v is a limit point of both M and N. But then

the least element of T above « is in T'py NT'n, which is a contradiction. (See Lemma
2.4 of [2].)

Notation: For M and N in X, let 8,y denote the maximum element of I'p; NI .

One of the most important facts about the comparison point By, is that M
and N share no common elements or limit points above Sy . In other words, let
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M’ = M Ulim(M) and N’ = N Ulim(N). Then M’ N N’ C By;.n. The idea of the
proof is that if £ is in M’ N N, then the least element of T above £ is in 'y N Ty,
and hence less than or equal to Sy n. (See Proposition 2.6 of [2].)

Definition: Let A be a subset of X. We say that A is adequate if for all M and N
in A, either M N By,n € SE(N), NN B,y € SE(M), or M N Byn =NNBunN.

Note that a set A is adequate iff for all M and N in A, {M, N} is adequate. If
{M, N} is adequate, then the type of comparison which holds between M and N is
determined by M Nw; and N Nwy. Namely, since wy < B n, M N Bar,n € Sk(N)
implies that M Nw; € Sk(N) and hence M Nwy; < NNwy. And if M N By N =
N N Bur,n, intersecting this equation by w; yields M Nw; = N Nw;. If Ais
adequate, then an €-minimal element of A is a set M € A such that M Nw; is
minimal. If M € A is €-minimal, then for all N € A, either M N Sy n € Sk(N) or
M N By,ny = NN BN

Suppose {M, N} is adequate. The remainder sets Ry (M) and Ry (N) describe
the overlap of M and N above their comparison point. Namely, let Ry (N) be the
set of [ satisfying either

(1) thereis v > By N in M such that 8 = min(N \ ), or
(2) N N Bu,nN is either equal to M N By, or is in Sk(M), and 8 = min(N \
Bum.N)-

The remainder set Rp;(NV) is always finite. For if Rp/(IN) were infinite, then
there is an increasing sequence (&, : n < w) such that &, € N if n is even, and
&, € M if n is odd. But then letting v = sup,, &,, v is a common limit point of M
and N above their comparison point Sas,n, which is impossible. (See Proposition
2.9 of [2].)

2. STRONGLY ADEQUATE SETS

In Proposition 2.12 of [2] we proved that assuming that I' = A, for any adequate
pair {M, N}, the remainder set Ry (M) is always a subset of I". This property was
needed for showing that the forcing poset we defined for adding a generic function
on wo preserves cardinals, but it was not needed for the other applications.

In Section 4 below we define a forcing poset for adding a club to a fat stationary
subset of wy with finite conditions. The arguments we give require both that I' is a
proper subset of A, and that the remainder sets are contained in I'. This motivates
the definition of a strongly adequate set.

Definition 2.1. Let A C X. Then A is strongly adequate if A is adequate and
for all M and N in A, Ryf(N) CT.

In Section 3 of [2] we developed some results for combining adequate sets to
produce new adequate sets. These results are important for amalgamating condi-
tions over elementary substructures, which is used for preserving cardinals. In this
section we show how to adapt those arguments to the case of strongly adequate
sets.

By Lemma 3.3 of [2], if {M, N} is adequate and § € T', then {M N B, N} is
adequate. Note that M N B and N must compare the same way as do M and N,
since their type of comparison is determined by their intersection with w.
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Let A be adequate and N € X. Then A is N-closed if for all M € A, if
M N Bu,n € SE(N) then M N Sy n € A. The first goal of this section is to prove
that the N-closure of a strongly adequate set A with N € A is strongly adequate.
First we prove several technical lemmas.

Lemma 2.2. Let M and N be in X and let 5 € I'. If Byrnv < B, then Byn =
Brns,N -

Proof. Since Bar,n < B, sup((MNB)NBa,n) = sup(MNBas,n); so min(I\sup((MN
B) N Bu.n)) = min(T \ sup(M N Bar,n)) = Bm,n. Therefore Sy n € Tarng. It
follows that 5as,n is the largest ordinal in I'psng NI N, since it is the largest ordinal
inI'y NT'x and FMn@ﬂFNgFMﬂFN. So BM,N:ﬂMﬂﬂ,N- O

Lemma 2.3. Let {M, K} be strongly adequate and § € I'. If Bar,x < [, then
{M N B,K} is strongly adequate.

Proof. As noted above, {MNg, K} is adequate, and M N and K compare the same
way as do M and K. Since By, x < B, by Lemma 2.2 we have that Sy x = Byvng, k-
Note that min((M N B) \ Bumng,k ), if it exists, is equal to min(M \ Ba k). So if
(M NB)NBumng,k is either equal to K N Barng, i or is in Sk(K), and this minimum
exists, then the minimum is in T since {M, K} is strongly adequate. On the other
hand, if K N Bang,k is either equal to (M N B) N Bung, i or is in Sk(M N B), and
min(K \ Brpng k) exists, then this minimum is equal to min(K \ B, x) and hence
is in T since {M, K'} is strongly adequate. Similarly, if v € (M N J3)\ Byng, ki, then
v € M\ B k; so min(K \ ) is in T" if it exists. And if v € K \ Bung, i, then
v € K\ Bum k; so if min((M N B)\ ) exists, then it is equal to min(M \ ) and
hence is in I'. d

Lemma 2.4. Let {M,K} be strongly adequate and B € T'. If B < Bp.x and
M N Bu.x € SE(K), then {M N B, K} is strongly adequate.

Proof. Note that M N g is in Sk(K) since it is an initial segment of M N Byr, k. So
clearly Barng, i is the least element of I' greater than sup(M N S). But then both
R (M N B) and Rynpg(K) are empty. O

Proposition 2.5. Let A be strongly adequate and let N € A. Then
AU{MNpun:MecA MNpBun € Sk(N)}
is strongly adequate and N -closed.

Proof. If suffices to prove the claim that if A is strongly adequate, M and N are
in A, and M N Bu,n € Sk(N), then AU {M N Sn N} is strongly adequate. For
then any two models in the set described in the lemma will compare properly by
two applications of this claim. So let K € A be given, and we will show that
{M N Bun,n, K} is strongly adequate. By the previous two lemmas, it suffices to
consider the case when By,n < Bar,x and K N B,k is either equal to M N Bk
or is is in Sk(M).

Note that K N [Ba,n, Bm,kx) is nonempty. For otherwise sup(K N Sy k) =
sup(K N Ba,n). But then By x = min(T \ sup(K N Sarx)) = min(T \ sup(K N
Bu.n)) < Bu.n, which contradicts that Bar n < Bar.k-

Suppose that K N Ba,x = M N Barx. We claim that Sang,, v,k = Ba,n-
Since Bar,n < Bar,x, M N Bra,ny = KN B n. It follows that Bisng,, .k is the least
ordinal in I" above sup(M N Bz, ); for this latter ordinal is clearly in I'azng,, v 'k,
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and it is the largest ordinal in I'ysng,, . But since 8, n € T'ar, by definition the
least ordinal in I' above sup(M N Bar,n) 1S Bar,n. SO Bangy v,k = Bm,n. Since
obviously there is nothing in M N By N above Barn, Rxk(M N Byn) = 0 and
Ryingy, y (K) is either empty or equal to {min(K \ Bar,n)}-

Suppose that min(K \ Sy n) exists, and we will prove that it is in I'. Recall
that K N [BM,Na ﬁM,K) is nonempty. Since M N ,BMJ( =Kn ﬂ]m}(, it follows that
min(K \ Bar,nv) is equal to min(M \ Bar,n), and this ordinal is in Ry (M) and hence
inT.

Now assume that K N Sy, x € Sk(M). Then K N B n is an initial segment of
K N Bk and so is in Sk(M); it is also in Sk(Ba,n). Thus KN Bu.y € Sk(M) N
Sk(Bm,n) = Sk(M N Bar,n). No larger initial segment of K can be in Sk(Bur,n)
since it would contain ordinals larger than S n. Therefore SBangy, v, x < Bu,N-
Indeed, Barngyy. x,k is the least ordinal in I' larger than sup(K N By, n).

We claim that Barng,, ~,x = Bn,x. First observe that K N By n € Sk(M N
Bum.n) C Sk(N). Recall that K N [Ba, N, B, k) is nonempty. Since K N By x €
Sk(M), KN[Bum,N, B, k) is a nonempty subset of M\ By, n. Hence KN[Ba N, B k)
is nonempty and disjoint from N. In particular, the least element of KN[Ba, v, Bar, i)
is not in N, yet any element of K below this least element is in N. It follows that
B,k = min(I'\ sup(K N Bar,N)) = Brnpasw K-

In particular, if the ordinal min(K\ Barng,,. v,k ) exists, then it is equal to min(K'\
BN, k), which is in Ry (K) and hence in I'. Let v in (M N Ban) \ Brnga vk D€
given, and suppose that &€ = min(K\v). Since M NGy n € Sk(N), visin N\ By k-
Hence ¢ is in Ry (K) and therefore in I'. Finally, assume that vy is in K\ Barngy, v k-
Then + is not in M N B v. Since K N By, v is a subset of M, v must be at least
Ba,n. But then min((M N Bar,n) \ 7v) does not exist. O

Proposition 2.6. Let A be strongly adequate, N € X, and suppose that A C
Sk(N). Then AU{N} is strongly adequate.

Proof. Consider M € A. Then M € Sk(N). So clearly Sy n is the least member
of T above sup(M). So M N Sy n = M € Sk(N), and both Ry (N) and Ry (M)
are empty. ([

Before we proceed any further, we prove several technical lemmas regarding
comparison points which we will need.

Lemma 2.7. Let M € X, B € T', and suppose M C 3. Then I'yy C f+ 1.
Therefore for all N € X, By,n < B.

Proof. Since M C 3, sup(M) < 8. Let v € T'y; be given. Then sup(M N~) <
sup(M) < . Since f € T and v = min(I'\ sup(M N7)), 7y < B. SoTpy CB+1. In
particular, if N € X, then by definition By, n € I'ar, so Su,n < B. O

Lemma 2.8. Let K,M,N € X, and suppose that M C N. Then By, x < BN,k -

Proof. Since M C N, I'yy € I'y. SoI'my NT'x € I'v NT'k. Hence fByx =
maX(FM OFK) < maX(FN N FK) = BN,K-

O |

Lemma 2.9. Let M and N bein X andlet 5 € I'. If N C 3, then Bm,.n = Bymng,N-

Proof. By Lemma 2.2, it suffices to show that Sy, ny < . This follows from Lemma,
2.7 and the fact that N C . O
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Proposition 2.11 below describes a method for amalgamating strongly adequate
sets over countable elementary substructures. This method is used to preserve w;
in forcing with finite conditions. The situation is a bit more complicated than for
adequate sets; a difference is that we now have to consider an auxiliary set K as
described in the next proposition.

Note that if K € X and 7 and ¢ are in KNI, then {K, K N¢, K N~} is strongly
adequate.

Proposition 2.10. Suppose that A is strongly adequate and N € A. Let R(N) =
H{RMm(N) : M € A}. Assume that K € X N Sk(N) satisfies that AN Sk(N) C
Sk(K) and R(N) C K. Then

(ANSEN)U{K}U{KN(¢:¢€ R(N)}
is strongly adequate.

Proof. Let M € AN Sk(N) be given. Then M € Sk(K), so by Proposition 2.6,
{M, K} is strongly adequate. Fix L € A and ¢ € Rp(N), and we will show
that {M, K N (} is strongly adequate. Note that since M € Sk(K), M N¢ €
Sk(K) N Sk(C) = SE(KN(). Since KN( C (and ¢ €T, Baxne < (. Hence
MQBM)KQC S Sk(KﬂC) Also M N¢ = MmﬁM,KmC, since M N¢ C MO(KQC) -
B, knc

We will show that Rin¢ (M) and R (KX NC) are subsets of I'. If v € M\ Bar, ke
then since M N ¢ = M N B xne, ¥ > ¢. Hence min((K N¢) \ ) does not exist. It
follows that Ry (K N () is empty.

Now we show that Rxn¢(M) is a subset of I'. If min(M \ Bar,kn¢) does not
exist, then Rin¢ (M) is the emptyset, so assume that it does exist. Since M N¢{ =
M N Barkne, min(M \ Bar,xne) is equal to min(M \ ¢). On the other hand, if
v € (KN¢)\ Bm,knce, then for the same reason, min(M \ ) is equal to min(M \ ().
Therefore letting { = min(M \ ¢), Rxnc(M) = {£}.

It remains to prove that £ = min(M\~) is in I'. We will show that £ is in Ry (M),
which suffices. Since M C N and ¢ € R (N), By,p < By < ¢ If ¢ =min(N\~)
for some v € L\ fn,, then obviously £ = min(M \ v) and v € L\ Ba,. So
¢ € Rr(M) and we are done.

Otherwise either NNBn . = LNBn.r or NNBn . € Sk(L) and ¢ = min(N\BL n).
Clearly then ¢ = min(M\Sr n). Soif MN[Bur.L, Bn.) = 0, then & = min(M\Bar,1)
and hence £ € Ry (M). Otherwise M N 8,1, Bn,) # 0. Let us show that this is
impossible. If 7 is in M N[Bar,1, Bn,), thenm € M\ L. Som € (NNBn,r)\ L. This
contradicts the comparison of N and L stated at the beginning of the paragraph. [

Proposition 2.11. Let A be strongly adequate, N € A, and suppose that A is N -
closed. Let R(N) = |U{Rm(N): M € A}. Fiz K € Sk(N) such that AN Sk(N) C
K and R(N) C K. Suppose that B is strongly adequate and

(ANSE(N)U{K}U{KN(¢:(€R(N)} CBCXNSk(N).
Then AU B 1is strongly adequate.

Proof. Let M € A\ Sk(N) and L € B be given, and we compare M and L. Note
that since L € N, fr,pm < Bu,n by Lemma 2.8. Therefore 81,3 = Br vy BY
Lemma 2.2.

Claim: If € is in Ry (L) and & = min(L \ ¢) for some ¢ € Ry (N), then £ is in T.
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If ¢ = ¢ then we are done. Otherwise ¢ ¢ L and ¢ < £. Let us compare K
and L. Recall that ( € K. So if Sk, < (, then € is in Rx(L) and hence in
I'. Otherwise { < Bi,r. Suppose that Sxr < £ Since ¢ € (K N Pkr,) \ L,
LN Br.1 € Sk(K), since the other types of comparison of K and L are impossible.
As ¢ < Br,p <& =min(L\ {), we get that £ = min(L \ Bk,r). So { is in Rk (L)
and hence in T.

Finally, assume that £ < Bk, . Againsince ¢ € (KNPk,)\L, LNBk 1 € Sk(K).
We compare L and K N ¢. We have that Sxn¢.r < ¢ < Bk, by Lemma 2.7. So
LN ﬁKﬂ(,L S Sk(K) N Sk(C) = Sk(K n C) But LN ﬂKﬁC,L = L N, since
LN¢CLNPBk, € Sk(K) implies that any ordinal in LN ¢ isin LN (K N¢) and
hence in Bxn¢,r. Therefore £ = min(L \ Bxne,r). So € is in Rign¢(L) and hence in
I". This completes the proof of the claim.

Suppose that N N Bar,n is either equal to M N B,y or is in Sk(M). Since
L e Sk‘(N) and ﬁ[”M < BM,N, LﬂﬁLM S Sk(NﬁﬂM,N) - Sk(M) First we
prove that Ry (L) C . Let £ = min(L \ Bz a). Then £ € N\ M, so £ > Bu,nN.
Let ¢ = min(N \ Bar,n), which is in Ras(N). Then £ = min(L \ {); so £ € I" by the
claim above. Similarly, assume v € M\ B and € = min(L\ 7). Then £ € N\ M,
s0 &> Bun. If v > B, then ¢ := min(N \ v) is in Ry (N), and £ = min(L \ ¢);
so & € T by the claim. Otherwise 8 v < v < Bm,n. Letting o := min(N \ Sum,n),
note that o € Ry (N) and £ = min(L \ o). So again we have that £ is in T" by the
claim.

Now we prove that Ry (M) CT'. Let v € L\Sr ar be given and let &€ = min(M\7).
If v > By, then v € N\ BN, so € is in Ry(M) and hence in I'. Otherwise
Br.m < v < PBum,n. Then visin NN By, v and hence in M. But this is impossible
since then v € M N L and M N L is a subset of Bz ar.

It remains to consider the case when M N By n € SE(N). Since A is N-closed,
M N By is in SE(N) and hence in B. As M N S,y and L are both in B,
{MnNBur,n, L} is strongly adequate. Recall that S ar = Br,mngy ~- Let 8= Br.u-

Suppose that (M N Bar,n) N B is either equal to LN S or is in Sk(L). Since
B < BmN, MNBrym = (MNBa,n) NP is either equal to LN B ar or is in Sk(L).
Let us show that Rp(M) C I'. Suppose that £ is equal to either min(M \ B),
or to min(M \ ) for some v € L\ 8. If £ < Bum,n, then & is equal to either
min((M N Bar,n) \ B), or to min((M N Bar,n) \ y) for some v € L\ B; in either case,
€isin Rp(M N By n) and hence in I'. On the other hand suppose that £ > S N
If £ = min(M \ ), then clearly { = min(M \ Ba,v) and hence is in Ry (M) and
therefore in I'. Suppose that £ = min(M \ v), where v € L\ 5. If v < s n, then
¢ = min(M \ fa,n) and hence is in T'. If v > Bar n, then since v is in N \ Sar,w,
&€ =min(M \ v) is in Ry(M) and hence in T'.

Now we show that Ry (L) CT'. Suppose that v € M\ 8, and let £ = min(L \ 7).
If v < Bu,n, then v € (M N Buw) \ B, and therefore £ is in Rasng,, (L) and
hence in I'. Otherwise v > Sy n. Then v € M\ By, n. Let ¢ = min(NV \ 7). Then
¢ € Ry (N) and € = min(L \ ¢), which implies that £ € T by the claim. Finally,
assume that M N S is equal to L N 3, and let £ = min(L \ B). Then ¢ is equal to
min(L \ Br Mgy )s and so is in Ryng,, v (L) and hence in T

In the last remaining case, assume that LN S € Sk(M N By n). Then LN G €
Sk(M). Let £ = min(L \ ). Then § is in Rang,, (L) and hence in T'. Assume
that v € M\ 8 and £ = min(L \ 7). If vy € M N B, n, then & is in Rangy, v (L)
and hence in I'. Otherwise v > Sy, n. Then ¢ := min(N \ ) is in Ry (N) and
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& = min(L \ {); so & € T by the claim. Now suppose that v € L\ §, and let
& =min(M \ 7). If £ < Bu,n, then £ = min((M N Bar,n) \ 7), and hence ¢ is in
R (M N Bar,n) and therefore in I'. Suppose £ > Barn. If v > S, then € is in
Ry (M) and hence in I'. If v < B n, then £ = min(M \ By n); so € is in Ry (M)
and hence in T O

We now turn to the topic of amalgamating strongly adequate sets over models of
size wy. This kind of amalgamation, which is described in Proposition 2.15 below,
is used to preserve wy in forcing with finite conditions.

Lemma 2.12. Let A be strongly adequate, B € T, and K € X with § € K. If
ACSk(KNP), then AU{K}U{K NG} is strongly adequate.

This follows from Proposition 2.6.

Lemma 2.13. Let A be strongly adequate, 8 € T', and suppose that there is K € A
such that 8 € K and KNS € A. Then for all N € A with N\ 8 # 0, the ordinal
min(N\ B) s in T.

Proof. Let N € A and suppose that min(N \ 8) exists. If min(N \ 8) = 8 then we
are done. Suppose that min(N\ 5) > §. If By x < B, then since 5 € K, min(N\ 5)
is in Rk (V) and hence in I'. Assume that 8 < Sy x. Then since § € K \ N, we
must have that N N By x € Sk(K). Since Sy xkng < B < Bn,x by Lemma 2.7,
NN BN kg € SE(K)NSk(B) = SE(KNB). Now NN = (NNBnx)NS C
NN (K n ﬂ) - BN,KH/3~ So min(N \ ﬂ) e min(N \ /BN,Kﬂﬁ)v which is in RKOﬁ(N)
and hence in T'. (]

For an adequate set A and g € T', the set A is [-closed if for all M € A,
M N p € A. The next proposition says that the -closure of a strongly adequate
set is strongly adequate.

Proposition 2.14. Let A be strongly adequate, 8 € T', and suppose that there is
K € A such that B € K and KNp € A. Then

AU{MnNnpg: M e A}
is strongly adequate and B-closed.

Proof. Tt suffices to prove the claim that under the assumptions above, if M € A
then AU {M N B} is strongly adequate. For then the statement of the proposition
can be proved with two applications of this claim. Fix M and N in A, and we will
show that {M N B, N} is strongly adequate. By Lemmas 2.3 and 2.4, it suffices to
consider the case when 8 < By, v and N N By, is either equal to M N Sy n or is
in Sk(M).

Suppose that NN Bayr,n = M N Bay,n. Then MN G = NNPB. Since Bynpg,v < B,
(MNB)NBrrs,N = NNPrng,n- Also MN G = MNBrng,n, since any ordinal in
the set on the left is in both M N 3 and N, and hence in Syng,n. It follows that
Rn(MNp) is empty and Rarng(N) is either empty or equal to {min(N\ Sarng,n)}-
But since NN =MnNpB=MnNPBung,N, in the latter case min(N \ Synpg,n) =
min(N \ ), which is in T by Lemma 2.13.

Now assume that N N Byr,n € Sk(M). Since 8 < By, N, it follows that NN g €
Sk(M)NSk(B) = Sk(MnN ). Since Byng,n < B, NN Brng,n € Sk(MNSG). Also
as NNBCMNB, NNB=NnNPBrng,n, since any ordinal in the set on the left
isin (M N B) NN and hence in Barng,n. So N N [Bung,n, B) = 0. It follows that
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min(N \ Banp,n), if it exists, is equal to min(N \ §), which is in I by Lemma 2.13.
And if vy € (M NP)\ Puns,n and & = min(N \ v), then again £ = min(N \ §),
which is in T". Finally, suppose v € N \ Spng,n. Then v > 5, so min((M N B) \ v)
does not exist. (]

Proposition 2.15. Let A be strongly adequate, 5 € T, and suppose that A is [3-
closed. Assume that there is K € A such that 8 € K. Let B be a strongly adequate
set satisfying

ANSK(B) C B C Sk(B).

Then AU B is strongly adequate.

Proof. Consider M € A\ Sk(B) and N € B, and we will prove that {M, N} is
strongly adequate. Since A is f-closed, M NG € A. As we discussed in Section
1, the thinness of the stationary set ) implies that M N S is in Sk(B). So M N3
is in AN Sk(B) and hence in B. Therefore {M N 3, N} is strongly adequate. If
M = M N f then we are done. So assume that M \ 8 # 0. Then by Lemma 2.13,
the ordinal min(M \ 8) is in I'. Since N C 3, Bu,ny < S by Lemma 2.7. So by
Lemma 2.2, ﬂM,N = 6MOB,N~

We claim that M and N compare the same way as do M NS and N. If (M NB)N
ﬁMﬁﬁ,N = Nm/BMﬂB’N, then (M ﬂﬁ) mﬁM,N = MﬁﬁM,N is equal to NﬂﬁM’N.
Suppose (M NB)NByns.n € SE(N). Then (MNB)NBrns,n = MNBu.n € SE(N).
Finally, if NmﬂMﬂﬂJ\f S Sk}(M ﬂﬁ), then N N BM,N S Sk(M)

Now we prove that (1) any ordinal in Ry (M) is either in Ry (M N gG) or is equal
to min(M \ 3), and (2) Ry (N) € Ryung(N). It follows that Ry (M) and Ras(N)
are subsets of T

(1) Note that min(M \ B n) is either equal to min((M N B) \ Brnp,n), or is
equal to min(M \ B). So if M N B N is either equal to N N By, n or is in Sk(N),
then (1) is satisfied for min(M \ Ba,nv). I v € N\ Bar,n, then v € N\ Byng,N-
So if min(M \ ) exists, then it is either equal to min((M N B)\ 7), and hence is in
Ry(M N p), or it is equal to min(M \ B).

(2) Since By,ny = Bmng.n, the ordinal min(N \ Sa n) is equal to min(N \
Bumng,n); so this ordinal is in Rang(IV) in the case when N N By v is either equal
to MNBuy,n orisin Sk(M). If v € M\ Bum, n, then either v € M NG and min(N \~)
is in Ryng(N), or v > B and min(N \ 7) does not exist. O

3. FORCING WITH STRONGLY ADEQUATE SETS AS SIDE CONDITIONS

We give an example of a forcing poset with finite conditions which illustrates
how the results of the previous section can be used for preserving cardinals.

Definition 3.1. Let P be the forcing poset whose conditions are finite strongly
adequate sets. Let B < A if A C B.

Proposition 3.2. The forcing poset P preserves w1 .

Proof. Let AlF §:w — w1 is a function. Fix 6§ > wy regular with g € H(0). Let N*
be a countable elementary substructure of H(6) satisfying that P, A, g, 7, X € N*
and N := N*Nwy € X. Sincem € N*, N*NH(wz) = 7[N] = Sk(N). In particular,
N*AP C Sk(N).

Let B = AU{N}. Then B is strongly adequate by Proposition 2.6. We will prove
that B is N*-generic. This implies that B forces that the range of ¢ is contained
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in NV, and therefore g does not collapse w;. Fix a dense set £ € N*, and we will
show that N* N E is predense below B.
Let C' < B be given. Define

D:CYU{]\4ﬂﬂ]\/[’N2]\46(77 MQBM’NES]{(N)}

By Proposition 2.5, D is strongly adequate and N-closed.

Let X = N*N D. Since X is a finite subset of N*, X € N*. Let R(N) =
U{Rm(N) : M € D}. By elementarity we can fix K € N*NX such that X € Sk(K)
and R(N) C K. Let Y = XU{K}U{KnN(¢:¢e€ R(N)}. By Proposition 2.10,
Y is strongly adequate. Since E is dense, we can apply elementarity to fix Z <Y
in N*N E. Then by Proposition 2.11, D U Z is strongly adequate. So DU Z is a
condition below D and Z, and Z € E. This shows that N* N E is predense below
B. O

Note that the condition B in the proof above is actually strongly N*-generic (see
the comments following Proposition 4.2 in [2]).

Proposition 3.3. The forcing poset P preserves ws.

Proof. Let AlF g : w; — wsy is a function. Fix 6 > ws regular such that g € H(0).
Let N* < H(0) be of size wy such that P, A, g, 7, X € N* and f* := N*Nwqy € I.
Since w € N*, N* N H(wq) = 7[8*] = Sk(5*). In particular, N* NP C Sk(8*).

Fix K € X with * € K and A € Sk(K). Then A € Sk(K) N Sk(8*) =
Sk(KNpB*). Let B=AU{K}U{KNp*}. Then B is strongly adequate by Lemma
2.12. We claim that B is N*-generic. This implies that B forces that the range of
g is a subset of N*, and hence does not collapse ws. Fix a dense set £ € N*, and
we show that N* N E is predense below B.

Let C' < B be given. Define

D=Cu{Mnp*:MeC}.
Then D is strongly adequate and *-closed by Proposition 2.14.
Let X = N*ND. Then X isin N*. Note that X = Sk(8*)ND. Since F is dense,
by elementarity we can fix Y < X in N*NE. Then DNSk(B*) = X CY C Sk(5%).

By Proposition 2.15, D UY is strongly adequate. So DUY is a condition below Y
and D,and Y € N*NE. O

Note that since P has size ws, it preserves all cardinals larger than wy as well.

Let us consider a more complicated example of a forcing poset with strongly
adequate sets as side conditions. This example adds a generic function on ws.

Definition 3.4. Let P be the forcing poset whose conditions are pairs (f, A) satis-
fying:

(1) f is a finite partial function from wsy to we;

(2) A is a finite strongly adequate set;

(3) for all M € A and « € dom(f), if M N [a, f(a)] # O, then a, f(a) € M.
Let (9,B) < (f,A) if ACB and f C g.

A similar forcing poset was defined in Section 5 of [2] in the case when T' = A,
except that a side condition was assumed to be adequate, and not strongly adequate.
It was shown that this forcing poset preserves w; and ws and adds a total function
from wy to wy. The proof relied on the fact that remainder sets are subsets of I"
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when A = I". Definition 3.4 gives a version of this forcing poset in the case when I' is
a proper subset of A, but we require a side condition to be strongly adequate. Under
this stronger requirement, the proof of the preservation of cardinals is identical to
that in [2].

4. ADDING A CLUB TO A FAT STATIONARY SET

Fix for the remainder of the section a fat stationary set S C wy. Being fat means
that for every club D C wo, S N D contains a closed subset of order type wy + 1.
We will define a forcing poset with finite conditions which adds a club subset of
S. Clearly it suffices to add a club to any stationary subset of S. By fatness and
the fact that A contains almost all points of cofinality wy, there are stationarily
many S in S N cof(w;) such that § € A and S N cof(w) N B contains a club in G.
By removing the ordinals where this fails, we will assume without loss of generality
that this property holds for all 8 in S N cof (wy).

Let T' = SNcof(wy). Then I is a stationary subset of A. Let us define the
comparison points Sy n for M and N in & relative to this set I'. Let Z denote
the set of M in X such that sup(M) € S and for all € M NS, sup(M Np) eS.
Note that if M € Z and S € M NT, then MNP € Z.

Lemma 4.1. The set Z is stationary in P, (w2).

Proof. Let F : [wa]<“ — ws be a function. Since T is stationary, we can find g € T
which is closed under F'. As X is stationary, fix N* which is countable and satisfies
that N* < (H(w2),€,F,S), € N*,and N := N*Nwy € X.

By elementarity, there is a club subset ¢ of g in N* such that ¢ C S. Again by
elementarity, N N ¢ is unbounded in sup(N N B), so sup(N N B) is in ¢ and hence in
S. Let M = NNg. Then M is in X and sup(M) = sup(N N B) € S. Also since N
and [ are both closed under F', so is M.

Let v € M N S be given. If v has cofinality w, then sup(M N~) = v, which is
in S. Assume v has cofinality w;. By elementarity, there is a club subset d of v in
N* such that d C S. Then N Nd is unbounded in sup(N N+), so sup(N N+) is in
d and hence in S. Since v < 8, sup(N N~) = sup(M N~). O

Given ordinals o < v and o’ < 4/, we say that the pairs (o, ) and (a/,7’) are
overlapping if [a,y] N [/, '] # 0, and are nonoverlapping if [o,v] N [/, 7] = 0.

Definition 4.2. Let P be the forcing poset whose conditions are pairs (x, A) satis-

fying:
(1) z is a finite set of nonoverlapping pairs {a,7), where « € S and a < v < wa;
(2) A is a finite strongly adequate subset of Z;
(3) if M € A, {a,y) €z, and M N[, y] # 0, then o and v are in M;
4) if M € A, (a,v) € x, M N[a,y] = 0, and M \ « is nonempty, then
min(M \ a) € S.
Let (y,B) < (z,A) ifx Cy and A C B.
Note that in (4), the ordinal min(M \ «) has cofinality w;. So the conclusion of
(4) is equivalent to requiring that min(M \ «) is in T.
If p=(z,A), welet x, =x and A, = A.
Let D be a P-name such that P forces

D={a:3pecCG Iy {a,7) €xp}.
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Our goal is to show that P preserves cardinals and forces that D is a club subset
of S.

Lemma 4.3. Letp be a condition. Suppose that (o,7y) € x,, N € Ay, NN[a, ] = 0,
and N\ a # 0. Let B = min(N \ «). Then either (8,§) € x, for some &, or
(xp U{(B,B)}, Ap) is a condition below p.

Proof. Suppose that there is no pair of the form (8, &) in z,, and we will prove that
(xp U{(B,8)},Ap) is a condition. (1) Since p is a condition, 5 € I'. Consider a pair
(€,¢) € xp, and suppose for a contradiction that 3 € [¢,(]. Then N N[, (] # 0 and
&< B <. It follows that £ € NN g. Since f = min(N \ «) and £ < 3, we must
have that £ < a. But then & < o < 8 < (. Hence {(«,~) and (£, ) are distinct and
overlapping, which contradicts that p is a condition.

(2) and (3) are immediate. For (4), suppose that M € A,, 5 ¢ M, and M \ 3
is nonempty. We need to show that min(M \ §) € T". Since g € N, if 8 > Bu,n
then min(M \ 8) is in Ry (M) and hence in I'. Suppose that 8 < Sar,n. Then
since € N\ M, MNpByn € Sk(N). So MNpByny CN. Asy < 8 < Bu,n and
NN[a,v] =0, it follows that M N[a, ] = 0. Since p is a condition, min(M \ «) € T.
But as MNB C NN and f=min(N \ &), min(M \ a) = min(M \ B). O

Proposition 4.4. The forcing poset P preserves w1 .

Proof. Let plF g :w — w; is a function. Fix 6 > ws regular with ¢ € H(#). Let N*
be a countable elementary substructure of H(0) satistying that P, p, g, 7, X, S, Z €
N* and N := N*Nwy € Z. Note that since 7 € N*, N* N H(wz) = 7[N Nws] =
Sk(N). In particular, N* NP C Sk(N).

Define ¢ = (zp, A, U {N}). We will prove that ¢ is N*-generic. Then ¢ forces
that the range of ¢ is contained in IV, so ¢ does not collapse w;. Fix a dense set
D € N*, and we will show that N* N D is predense below q.

Let r < q. Applying Lemma 4.3 finitely many times, we will assume without
loss of generality that whenever (a,v) € z,, N € A, NN[a,v7] =0, and N \ « is
nonempty, then (min(NV \ «),§) is in «, for some &.

Define s = (z,, A’), where

A=A U{MNByn:MeA, MNByny € SkN)}.

We claim that s is a condition. (1) is immediate. (2) A’ is strongly adequate
by Proposition 2.5. Let us prove that A” C Z. Consider M € A, such that
M N Bu,n € Sk(N). First we show that sup(M N Buy,n) € S. M = MN Bu,n
then this is immediate. Otherwise let § = min(M \ Ba n). Then 8 € Ry (M),
and hence 8 € I since A is strongly adequate. As M € Z and 8 € M NT,
sup(M N Bar,y) =sup(MNpB)isin S. Now if y € (M NBa,n) NS, then y e M NS
and therefore sup((M N By n) Ny) =sup(M N~) € S.

(3,4) Consider M € A, such that M N By,n € Sk(N), and let (a,v) € z,.
First suppose that (M N Bar,n) N [o,7] # 0. Then o and v are in M. Since
M N Bun € SE(N), NNa,v] # 0. So « and v are also in N. Hence « and ~ are
in M N N, which is a subset of Sy, n. So o and « are in M N Sy, n. Now suppose
that (M N Barn) N [a,y] = 0. If M N [a,v] # 0, then a is in M \ (M N Barn),
so a > By, n. In that case, min((M N Bar,n) \ @) does not exist and we are done.
On the other hand, if M N [a,~] = 0 and min((M N Bar,n) \ ) exists, then clearly
min((M N By,.n) \ @) is equal to min(M \ «), which is in S. This completes the
proof that s is a condition.
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Let u = (zs NSk(N), As N Sk(N)). Then u € N*NP. Let R(N) = |J{Rm(N) :
M € As}. Then R(N) is a finite subset of N and hence is in N*. Since Z € N*,
by elementarity we can fix K € N* N Z satisfying that v € Sk(K) and R(N) C K.
Since R(N) C K NT, for all ¢ € R(N), KN¢ € Z. Define v = (z,, A*), where

A=A, U{K}U{KnNC(:¢ € R(N)}.

Let us prove that v is a condition. (1) is clear and (2) follows from Proposition
2.10. (3,4) Let (o, ) be in a,. Then a,v € K. Fix ( € R(N), and suppose that
(KN¢)Nfa,vy] =0. Since o € K, a > ¢. So min((K N¢) \ @) does not exist. This
proves (4).

For (3), fix ¢ € Rp(N) for some M € A, and suppose that (K N¢) N [a, 7] # 0.
Then o < . We need to show that « and « are in K N (. Since o and  are in K,
it suffices to show that v < ¢. Recall that by the definition of Ry (N), SBu.n < C.

Suppose for a contradiction that ¢ < 7. So we have that « < ¢ < v. In
particular, By ny <. We claim that M N [, 7] = 0. If not, then v € M since s is
a condition; but this is impossible since then v € M NN C Sy n < (. So indeed
M N [a,y] = 0.

Suppose that Sa nv < a. Then since o < ¢ are in N, it cannot be the case
that ¢ = min(IV \ Sar,n). So there is ¢ > Sy n in M such that ( = min(N \ o).
Since a € N and « < ¢, this implies that o < o < ¢. But then o € M N [«, 7],
contradicting that M N [, 7] = 0.

Therefore we have that o < By v < (. So a is in N N By, n but is not in M.
This implies that M N By N € Sk(N). The definition of Rj;(N) in this case gives
that there is 0 € M \ By, such that ( = min(N \ o). But then we have that
a < fBun <o<(<v; 80 MnN][a,] is nonempty, which again is a contradiction.
Thus v < . So v € K N(, which completes the proof that v is a condition.

Fix w < v in N*N D. We will prove that w and s are compatible, which
shows that N* N D is predense below q. So let z = (z., A.) be defined by letting
T, =x,Uzs and A, = A, UAs;. We will prove that z is a condition. Then clearly
z < w, s and we are done.

(1) Let (o, 7) € xy and (&/,7') € x4 be given. Suppose for a contradiction that
the pairs are distinct and overlapping. If N N [a/,7'] # (), then o/ and +' are in
N. Tt follows that (a/,7’) € z,, and the intervals are nonoverlapping since w is a
condition, which is a contradiction. So N N [a/,+'] = 0. Since « and ~ are in N,
we must have that o < o/ <7 <. Let 8 =min(N \ /). Then a <+ < 8 < ~,
and by the choice of r, (8,£) € x4 for some £. Since 8 € N, (5,&) € x,,. But then
(a,7) and (B, &) are distinct pairs in z,, which overlap, contradicting that w is a
condition.

(2) A, is strongly adequate by Proposition 2.11, and clearly A, C Z. (3,4)
Let M € A, and (a,7) € z5. If NN [a,7] # 0 then « and ~ are in N, and so
(a,7) € zy. In this case (3) and (4) are satisfied since w is a condition.

Suppose that N N [a,v] = 0. Then since M € Sk(N), M N [a,y] = 0. Assume
that 8 := min(M \ «) exists, and we will prove that 8 € I". Let 8/ = min(N \ «).
Then 8 € T. If 8 = ' then we are done. Suppose 3’ < 8. By the choice of r,
(B',€) € x5 for some &, and as 3’ € N, (8',€) € x,. Since 8 ¢ M, the ordinal
min(M \ ), which is equal to 3, is in T.

Now let M € A, and {a,7) € . Suppose that M N [a,~] # 0, and we show
that o and v are in M.
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First assume that there is £ € M N [«, 7] such that &€ > B n. Let ¢ = min(NV \
€). Then ¢ € Ry (N) and ¢ € (a,7]. By the choice of K, ( € K. Therefore
K Nla,y] # 0. Since K € Ay, a and « are in K. But a < {, so a € K N (. Hence
(KN¢)Nla,v] # 0. Since KN ¢ € Ay, v € KN But this is impossible since
¢ < 7. So this configuration is not possible.

Therefore M N[, 7] € Bar,n. Since M N e, 7] is nonempty, (M N Sy n) meets
the interval [, v]. If M N Buy,n € Sk(N), then M N By, n is in A,,, and therefore
o and vy are in M N By, v and hence in M. Otherwise N N By v is either equal to
M N BN oris in Sk(M). If Bar,n > 7, this implies that « and v are in NN By N
and hence in M.

Otherwise we have that o < By.n < 7. Let ¢ = min(N \ By ). Then ¢ €
Ry (N) and a < ¢ < 7. By the choice of K, ( € K, and hence K meets the
interval o, v]. Therefore a € K since w is a condition. So o € K N¢, and therefore
K N ¢ meets the interval [a,y]. This implies that v € K N ¢ since w is a condition,
contradicting that ¢ < ~.

Now assume that M N [a,7] = 0 and min(M \ a) exists. We will prove that
min(M \ &) € . Assume first that N N Sy v is either equal to M N Sy n or is in
Sk(M). Since avisin N\ M, fa,nv < . So o € N\ By, n, and thus min(M \ «)
is in Ry(M) and hence in I'. Now suppose that M N Sy, v € Sk(N). Then
MNBun € Ay. If By N < o, then again min(M \ «) is in Ry (M) and hence in T
So assume that o < Bar,n. If min((M N Ba,n) \ @) exists, then clearly it is equal
to min(M \ «), and this ordinal is in I" since w is a condition. Otherwise the least
element of M above « is at least Sy, n. But then min(M \ &) = min(M \ Ba,n),
which is in Ry (M) and hence in T O

Proposition 4.5. The forcing poset P preserves wo.

Proof. Let p Ik ¢ : w1 — wy is a function. Fix § > wy regular such that g € H(6).
Let N* < H() be of size wy such that P,p, g, 7, X, S5, Z € N* and f* := N*Nwy €
T'. This is possible since T is stationary. Note that since # € N*, Sk(8*) = n[58*] =
N*N H(wz). In particular, N* NP C Sk(8*).

Fix K € Z such that p and p* are in Sk(K). Let ¢ = (x4, 44), where z, =
xp, U{(B*,8*)} and A, = A, U{K} U{K N B}. Then A, is strongly adequate by
Lemma 2.12. The other properties of being a condition are easy to check. We claim
that ¢ is N*-generic. This implies that ¢ forces that the range of g is a subset of
N*, and hence does not collapse ws. Fix a dense set D € N*, and we will show
that N* N D is predense below g.

Let r < ¢ be given, and we will find a condition w in N*N D which is compatible
with 7. Note that for any pair («,v) in z, different from (5*, 5*), « and v are
either both below or both above g*.

Let s = (¢, A*), where

A" ={MnNB :MEe A}

We claim that s is a condition. (1) is immediate. For (2), the set Ay is strongly
adequate by Proposition 2.14. To see that A; C Z, consider M € A,.. If M =
M N B* then we are done. Otherwise let & = min(M \ 8*). Then ¢ is in T; for if
¢ = (* then this is immediate, and otherwise £ € T' by property (4) of r being a
condition. Now M N B* = M NE, so sup(M N S*) € S since M € Z. Suppose ( is
in (MNnpg*)NT. Then ¢ € M NT. But sup((M N S*)N¢) = sup(M N¢), which is
in S since M € Z.
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(3,4) Consider {«,v) € =, and M € A,. If « and v are at least 8*, then
(MNB*)N[a, 7] = 0 and the least element of M N3* above a does not exist. Suppose
that o and «y are both below §*. If (M NG*)N[a, v] = § and min((M NG*)\ @) exists,
then M N[, ] = 0 and min((MNB*)\«) = min(M\«) € I'. If (MNS*)N[a, 7] # 0,
then a and ~ are in M, and hence in M N 8*. This completes the proof that s is a
condition.

Let v = (25N Sk(B*), A, NSk(F*)). So 2y = 25N (B* x §%) and A, = A,NP(5%).
By elementarity, fix w < vin N* N D. Let z = (2, Uxs, Ay, U Ag). We will prove
that z is a condition. Then clearly z < w, s, completing the proof.

(1) Let (o) € my and (¢/,7') € z, be distinct. If o/ and 4" are both at least
B*, then obviously [o,v] N [a/,7'] = 0. Otherwise they are both below 5*, and so
(o/,7") € xy. Then [a,7] N [a/,7'] = 0 since w is a condition. (2) A, is strongly
adequate by Proposition 2.15, and clearly A, C Z.

(3,4) Let M € A, and (a,v) € xs. If @ and +y are at least §*, then M N[a,v] =0
and min(M \ ) does not exist. Suppose « and «y are both below £*. Then («,v) €
T, 80 (3) and (4) are satisfied for (a,7) and M since w is a condition.

Now let M € A, and (@, ) € x. Then « and ~ are below 8* and M NS* € A,,.
Suppose that M N [a,v] = @. Then (M N B*) N [a,y] = 0. If min(M \ «) does not
exist then we are done. If min((M N B*) \ «) exists, then it is in T" and it is equal
to min(M \ «). Otherwise min(M \ o) exists but min((M N B*) \ @) does not exist.
So min(M \ «) > *, and therefore min(M \ ) = min(M \ g*). If §* € M, then
min(M \ o) = f*, which is in T". Otherwise min(M \ @) = min(M \ 8*) is in I" since
s is a condition and (8*, 3*) is in z;. Now suppose that M N [a,7] # 0. Since «
and v are below 8*, (M N 3*) N [a,y] # 0. Since M N G* € A, a and v are in
M N B* and hence in M. O

Finally, we show that P adds a club subset of S. Recall that D is a P-name and
P forces that . )
D={a:3peGIy{a,n) €xp}
Clearly D is forced to be a subset of S, and it is straightforward to verify that D
is forced to be cofinal in wy. Proposition 4.7 below will show that D is a club.

Lemma 4.6. Suppose that p forces that « is a limit point of D. Assume that
M e A, and sup(M Na) =a. Thensup(M NSNa) =oa.

Proof. Let £ < a be given, and we will find an element of M N.S N« which is above
€. Since p forces that o is a limit point of D, we can find ¢ < p, and o and 7 such
that { < 0 <7 < a and (o,7) € z4. If 0 € M then we are done, since o € S.
Otherwise M N [o, 7] = 0 and min(M \ o) is in S. Since £ < ¢ and M N« is cofinal
in «, we have that { < min(M \ o) < a. O

Proposition 4.7. The forcing poset P forces that D is closed.

Proof. Tt will suffice to show that if p forces that « is a limit point of D, then there
is ¢ < p such that («, ) € z4 for some 7. If p already satisfies this property, then
we are done; so assume not. Then since p forces that « is a limit point of D, for
any pair (£,7) € z,, the ordinals £ and ~ are either both below or both strictly
above a. In particular, the pair (a, @) does not overlap any pair in z,. Also note
that « is a limit point of .S, since this is true in a generic extension.

We claim that for any M € A, if sup(M Na) < a and M \ a # 0, then
min(M \ «) € T'. Namely, fix r < p and ({,~) € z, such that sup(MNa) < <y <
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a. Then since M € A, and M N[{,~] =0, min(M \§) € T'. But as sup(M Na) <&,
min(M \ ) = min(M \ «).

First suppose that there exists M € A, such that sup(M) = «. Then since
Me Z sup(M) =a € S. Let ¢ = (z, U{{e,a)}, A,). We will show that ¢ is a
condition, which finishes the proof in this case.

The only way that ¢ could fail to be a condition is if there is some N € A, such
that o ¢ N and £ := min(N \ ) ¢ I'. We will show that this is impossible. By
the comments above, we must have that sup(N Na) = «. So a is a common limit
point of M and N, which implies that o < Bpr,n. First assume that £ < B n.
Then since { € N\ M, M N Byn = M € Sk(N). By elementarity, this implies
that sup(M) = « is in N, which contradicts our assumptions. Now assume that
Bu,ny <& Then both M N By, n and NN By, n have a supremum equal to o, which
belongs to neither M nor N. Hence the only comparison of M and N which is
possible is that M N By, v = N N Bas, . But then £ = min(N \ Bas,n) is in Ry (N)
and hence in I', which again contradicts our assumptions.

We now assume that for all M € A,, if sup(M Na) = «, then M \ « is nonempty.
Recall that if M € A, sup(MNa) < a, and M\« is nonempty, then min(M\«a) € T
Define A, A1, and A, as follows:

Ao ={M € A, : sup(M) < a},
A ={M e A, :sup(M Na) <o, min(M\a) €T},
Ay ={M e A, :sup(MNa)=ca, M\a#0}.
Then by the facts just noted, A, = Ag U A; U As.

First suppose that Ay is empty. We claim that ¢ = (z, U {{a, )}, 4,) is a
condition, which will finish the proof in this case. Clearly ¢ is a condition unless
« is not in S, since the other properties are immediate. Suppose that « is not in
S. Then for all M € A, either sup(M) < « in case M € Ay, or sup(M Na) < «
and min(M \ ) € T in case M € A;. In the second case, min(M \ «) > « since «
is not in S. Fix { < a in S larger than sup(M N «) for all M € A,. Then easily
(xp U{(&, )}, Ap) is a condition, contradicting that p forces that « is a limit point
of D.

Now suppose that A, is nonempty. Let ¢ = (x,U{(a, o)}, 4p). If ¢ is a condition
then we are done, so assume that it is not. Then either « is not in .S, or there is
N € A, such that « ¢ N and min(N \ «) is not in S. The rest of the proof will
lead us to a contradiction.

Let M be €-minimal in Ay and let & := min(M \ o). We claim that & is not in
S. So suppose that it is. Then since M € Z, sup(M N§) = o € S. Therefore there
must be N € A, with o ¢ N and min(NV \ a) ¢ S. Note that N must be in As. So
o is a common limit point of M and IV, which implies that o < Bpr,n. By the -
minimality of M, either MmﬁM,N = NQBM,N or Mﬂﬁ]\/LN S Sk‘(N) But MﬁﬁMJv
cannot be in Sk(N), since if it were then M N, and hence sup(M Na) = a, would
bein N. So MNBy,n = NNBuar,n. Since { = min(M \«a) € S and min(N\«) ¢ S,
it must be the case that Sy nv <& So M Na=MNPBynx =NNpPun. Thus
NNna=NnNpBuyn. Therefore min(N \ @) = min(N \ Ba,n), which is in Rps(N)
and hence in I', giving a contradiction.

So indeed ¢ is not in S. Next we claim that for all K € Ay, min(K \ a) > &.
Consider K € A; and let 0 = min(K \ «). Then o € T, and therefore o # &.
Suppose for a contradiction that ¢ < &. Then £ = min(M \ o). So if By x < o,
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then £ is in Rx (M) and hence in I', which is false. Therefore ¢ < S k. In
particular, o < Bar, k. But sup(K Na) < a = sup(M N a); so it must be the case
that K N By x € Sk(M). This is impossible as 0 € (K N Ba,x) \ M. This proves
that & < min(K \ «).

Using Lemma 4.6, choose v in M N.S N« which is larger than any ordinal below
o which appears in a pair of z,, and larger than sup(N Ne«) for all N in Ag U A;.
Let r = (zp U{(v,€)}, 4p). We claim that r is a condition. This will contradict
that p forces that « is a limit point of D, finishing the proof.

(1) Let (7, 7) be in x,. If either of 7 or 7 is below «, then they are both below 7,
and therefore [7, 7| N[y, &] = . Otherwise they are both strictly above a. We claim
that 7 > &, which implies that the intervals are disjoint. If not, then a < 7 < &.
Since 7 is in S and ¢ is not, 7 < §. So 7 is not in M. But then min(M \ 7) = is
in I, which is false.

(2) is immediate. (3,4) Let K be in A,. If K is in Ap, then K N [y,¢] = 0
and min(K \ ) does not exist. If K is in A;, then again K N [y,£] = 0, and
min(K \ v) = min(K \ «) is in I and hence in S. Suppose that K is in Ay. Then
o is a common limit point of M and K, so o < Br,x. By the €-minimality of M,
v € K. If £ < B, i, then again by the €-minimality of M we have that £ € K and
we are done. Otherwise o < Sk < €. So § = min(M \ B k) is in Rx (M) and
hence in I', which is a contradiction. ([
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